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1 Calcule les produits.

2 Calcule les produits.

523x10 = . 81x100 =
48x10 = - 174 x 10 =
751x10 = | 9%63x10=_ 4x1000 =
3 Complete les égalités.
Regarde bien
ool 99 =540 x 14 = 1400
19 x = 1900 569 x =5690
25 x =250 60 x

=6 000

Pour multiplier 7x1000= || 5x100=__
9x1000= | 5x1000= |
Bx100= || #2x10-

51 x100 = 5400

4

Mobtiplion pan 10,100 0 1000 | ome:

1 Calcule les produits.

8x1000= || 48x100= |
se7xf0= || 743x10=_
59x100= | 92x100= |
475°%10 = 4750
2 Calcule les produits.
5x1000= | 9x100=__ | S3xf0=__
98x100= | 95x40=_ | 47xA00=_
167 x 10 = 47 x 100 = 81000 =
Regarde bien
le nombre de zéros
3 Complete les éqalités. du résultat !
93x =930 | #x__ =7#500
40x  =4000 | 679x  =6790
6x = 6000 x 38 = 3800




